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1. R is the region in the plane in the first quadrant and inside the disk of radius 2 about the origin, {It’s shaped like a

quarter pizza, with the point at the origin.)

a) The following integral represents the volume of a solid: f / 3dA. Describe that solid in words or draw a picture. Using
R
basic geometry, compute its volume.
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b} The following integral represents the volume of a solid: / /
R
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2y dA. Describe that solid in words or draw a picture. (Do
not compute the volume.)

¢) One of the following integrals represents the volume of the solid in part b).
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Which one is correct, and what is wrong with the others?
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2. Calculate the double integral:
// cos(z — ) dA, BE={(z,y) |0<2<n/2,0<y <n/4}
“JIR

T2 (/4 T/2
cos (k- Y) C\y d)( =

YJV/H
- 5N (K"Y) 1 df

\/’a@

° 0 | T/
(V2 T , d S(X~-T) - cosk \
T R !

, .
- r T
il T - "f"?/@fo]
- \Eosfqn ws;] | ws g
= ..wsT—r-t-wS‘@ = 1

z

test continues...
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3. Calculate the iterated integral: / VI —yidrdy
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4) Sketch the region of integration for f / flz,u) dydx, and then rewrite the integral in the opposite order. Do not
G Ja? -

attempt to evaluate. {You cannot evaluate without knowing what f(z,y) is, anyway.)
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5) Using polar coordinates, calculate the integral of f(z,¥) = x over the region that lies between the circle of radius 3 about
the origin and the circle of radius 6 about the origin and is in the interior of the angle formed by the positive z-axis and

the ray from (0, 0) through {1/2,v/3/2). {The measure of this angle is 7/3.} (Polar coordinates are z = rcosf, y =rsinf
and dA = rdrdf.)
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test continues...




6) Evaluate the triple integral: zdA, where E is the solid in the first octant (0 < z, 0 < y, 0 < z) bounded by the

coordinate planes and the plane zE = —2x — 3y +6.
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7) An object in z-y-z-space fills the volume above the triangle with vertices (1,1,0}, (3,1,0) and (3,3,0) and below the
surface z = zy. The density (mass per unit volume) at {z,y, z) is 2. What is the total mass of the object?
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